HENEREREES i
SHM5FE7H20H (K)

€:E3::) (BT : kg )
SRR ==Y H 2 5 1B Z B fm &
BERXFE 648 |ESX 105.7 1,669 300
RXAIH LA 126.1 1,600 200
JUH LA 20.8 1,009 50
oaoz )8 49.1 1,439 1,000
Nt 45.1 1,000 30
HFHS 28.1 79 20
dE>HAN 74.4 150 20
TRORD 37.4 1,156 50
JIF 30.9 1,111 101
Y= 69.2 3,740 300

B 98 Ry FHA 2,315.1 601 300




Sité=E 2,901.9
[(&£) (BT ¢ kg )
JRETELE gBafEg n = = 1B =Z 1B B &
EEXRIFE 64€ |E=5 X 595.6 2,000 500
I5 A 25.4 1,900 300
<IF 43.1 1,500 500
ho 3& <73 36.2 2,300 1,000
aituE 700.3




